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QUESTION 1

Which configuration parameter is used to designate a storage area for archived log files that are retrieved for recovery
purposes?

A. logarchoptl

B. failarchpath

C. mirrorlogpath
D. overflowlogpath

Correct Answer: D

QUESTION 2

In what situation should you use a redirected restore operation?

A. You want to drop a storage group during a restore process.

B. You want to move data from one operating system to another.

C. You want to restore you table spaces into new storage groups.

D. You want to restore your table space containers into a different physical location.

Correct Answer: D

QUESTION 3

Which is a poor choice for a clustering dimension of a multidimensional clustering (MDC) table?
A. Columns with low cardinalities

B. Columns with high cardinalities

C. Columns involved in roll-in or roll-out of data

D. Columns involved in equality or range predicate queries

Correct Answer: B

QUESTION 4

If the following statements are executed:
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CREATE STOGROUP sg_hot ON \\'/path1\\', \\/path2\\', \\/path3\\', CREATE STOGROUP sg_med ON \\/path4\\',
\\'/path5\\, \\/path6\\'; CREATE TABLESPACE thbspl USING STOGROUP sg_hot;

What is the recommended way to move table space TBSP1 from storage group SG_HOT to storage group SG_MED?
A. Issue an ALTER TABLESPACE statement with the \WUSING sg_med\\' option.

B. Issue an ALTER STOGROUP statement with the \W\MOVE tbspl TO sg_med\\' option.

C. Perform a table space RESTORE operation with the WUSING STOGROUP sg_hot\\' option.

D. Use the ADMIN_MOVE_TABLESPACE procedure to move table space TBSP1 to SG_HOT.

Correct Answer: A

QUESTION 5

A DB2 9 database named MYDB that does not use automatic storage was migrated to DB2 10.1. When will a default
storage group be defined for this database?

A. The first time the database is accessed after the migration.
B. The first time the CREATE STOGROUP statement is executed.

C. When the ALTER DATABASE mydb CONVERT statement is used to convert the database to an automatic storage
database.

D. When the ALTER TABLESPACE statement is used to convert the table space that holds the system catalog for the
database to automatic storage.

Correct Answer: B
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